CONGRUENT TRIANGLES

Pearson Edexcel - Tuesday 19 May 2020 - Paper 1 (Non-Calculator) Foundation Tier

1.
23 The diagram shows four triangles.
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Two of these triangles are congruent.

Write down the letters of these two triangles.
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(Total for Question 23 is 1 mark)
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2.

9 The diagram shows five shapes on a centimetre grid.

(a) Write down the name of shape E.

Two of the shapes are congruent.

(b) Write down the letters of these two shapes.
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(Total for Question 9 is 2 marks)
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3.

21 The diagram below shows two triangles.

Mot to scale

Prove that tiangle ABC is congruent to triangle ACD.
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4.

25 Which of these is not used to prove that triangles are congruent?

Circle your answer.
[1 mark]
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